
SAP ABAP table VIZA01 {Meter for incidental expenses consumption}

VIZA01

MANDT [CLNT (3)]

SZAEHLER [NUMC (10)]

BUKRS [CHAR (4)]

WENR [CHAR (8)]

GRNR [CHAR (8)]

GENR [CHAR (8)]

MENR [CHAR (8)]

PARENT [NUMC (10)]

VORG [NUMC (10)]

SRAUM [NUMC (10)]

 VIZA01-PARENT = VIZA01-SZAEHLER 
0..N{0,1}

 VIZA01-VORG = VIZA01-SZAEHLER 

{0,1}{0,1}

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] VIZA01-BUKRS = T001-BUKRS 0..N

1

VIMI01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SMENR [CHAR (8)]
 VIZA01-MENR = VIMI01-SMENR 0..N

{0,1}

VIOB01

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

 VIZA01-WENR = VIOB01-SWENR 
0..N

1

VIOB02

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGRNR [CHAR (8)]

 VIZA01-GRNR = VIOB02-SGRNR 

0..N

{0,1}

VIOB03

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SWENR [CHAR (8)]

SGENR [CHAR (8)]

 VIZA01-GENR = VIOB03-SGENR 

0..N

{0,1}

VIOB22

MANDT [CLNT (3)]

SRAUM [NUMC (10)]

 VIZA01-SRAUM = VIOB22-SRAUM 

0..N

{0,1}


